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[1]
5D

(1) BD=acm &<,
EA=AF ABD IZE\W\T
32+42:a2
a’=25
a>0THd”"5 a=5
EA=AF BCD T8\ T
22+x2:52
x2=21
x>0THBME x=+/21
2) BC=acm &L,
Ef =A% DBC 2B\ T
824 62=q?
a’=100
a>0THd7"5 a=10
EA=AF ABCIZEWT
524+10%=x2
x2=125
x>0 THBEMS x=+/125 =55
(3) AB=acm &KL,
EA=ARF ABD IZ8W\T
a’+22=6*
a’=32
a>0THdN5 a=+/32 =42
EA=AF ABCIZE\T
(4V2)? + (24 4)* = 12

22=68
x>0THENG x=+/68 =217
(2]

0<x—5<x+2<x+3THdN5

x>5

ZODBEAZAFORIDEI X (x+3)cm THENH

(x—5)72+(x4+2)°2=(x+3)*
x2—12x420=0
(x—2) (x—10)=0

r>5THEMNS 2=10

(3]
O 4°+6°=52, 82=64
42462 L ENELLBRVMS, BEAZAFTIIR,
@ 82+15%=289, 172=289
82+152=172TH5h5, 17Tcm DLERL L THEAZARTH 5,
@ (2/3)*=12, 62=36, (4/3)?=48
(2/3)2+6°=48
(2v/3)246°=(4/3)2 THB75, 43 cm DLEFLD L TIEA=ZALTH 2,
@ (342)'=18, (44/3)*=48, (2/5)*=20
(3v/2)+(2¢/5)*=38
(3v/2)24(2v5)* & (43 HZEL K RS, BEAZATTIIR,
LLENS, BEA=ZARTHZDIE OO
1) AABC DEEM 4/15 cm? THE 05

%XSXAH=4«/15

AH=+15 (cm)
EAZAF ACHIZEWT

CH?+(4/15)?=8?

CH?=49
CH>0TH»hd»o CH=7
£oT BH=8-7=1

UL7Mo>T HM=4—1=3 (cm)
(2) EA=AF ABHIZEWT
(V15)+1%= AB?
AB?2=16
AB>0THh5m5 AB=4 (cm)
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S CH 530 BA DIEEIZH\V 2Fig% CH £ T2,

AABC DR LA EIZDNT

(1) EA=AF ACDIZENT ZCAH=45°+15°=60° A
CD*=5%—4=9 &-oT, AACHIZBWT /o

CD>0THhsMn5 CD=3 cm

EA=AF ABD 2B\ T
x*=(5+3)*+4*=80

1 >0THEM6 x=/80 =45

2) HB»M530CADERIZEW/-EIFEE BH 2§ 5,
£ZBAH=180°-120°
=60°

EA=AF ABHIZBWT

AH:AB:BH=1:2:.3

THEMNS
1 1
AH_fAB—EXZI_Z (cm)
BH=@AB=@><4=2J§ (cm)

EA=AF BCHIZBEWT
x*=(2/3)"+(6+2)
x2=176

x>0 THENS x=476 =219

6]
1) HA»SWBCIZERAH %5,
AABH 128\,
BH: AB: AH=1:2:./3
THEN5

1 1
BH—EAB—EX4—2 (cm)

AH:@AB:@M:N? (cm)
AACHIZBWT, AH: CH=1:1T»25»56
CH=AH=23 (cm)
£>T BC=2+2/3 (cm)
L7=M->T, AABC DEREI

%x(2+2\/§)x2\/§=6+2«/§ (cm?)

AH:AC:CH=1:2:./3
THdN5

HA=%AC=% X6=3 (cm)

CH=@AC=@><6=3J§ (cm)
ABCHIZBWT, BH: CH=1:1T»3h»56
BH=CH=3+/3 (cm)
£>T AB=3J/3 -3 (cm)
L7=M->T, AABC DEREIX

L x6vF-9x3vF = 2= (emy
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AB=2J10 cm
2) O’ o, EffOAIZEH O'HEFIKL
(1) % A#530 BCIz®E# AH £3(%, BH=xcm & A OH=5+3
¥, =8 (cm)
AABH IZBWT AH?=22— x2 007=10 (cm)
AACH IZBWT AH?=32—(4— x)? B~_H_ _____-C AOOHIZHWT
ck’)f 22_x2:32_<4_x>2 -4 cm O/H2=102_82:36
1 O'H>0ThEHh5
ZhEf\NT x=-g O’'H=6 (cm)
AB=0'H THhaH5
11\¢ 135
= * 2: 2— _— —_—
SOL3 AH=2 <8> 64 AB=6cm
AH>0THE»5 AH= /% =3—V815 (cm) [9]
L7h>T, AABC OEHIL %x4x3—"815=3‘/4ﬁ (cm?) AABC Iz BT
— 2 2
2 A BAM5YCAICE# BH 23(%, AH=xcm & BC=+24"+10
5. — /676 =26 (cm)

ABAHIZEWT BH*=10%—«*
ABCHIZBWT BH?=142—(18—1x)*

£oT 10°—x*=14*—(18 — x)*

365 =228
x—ﬁ
=33
2
oL BH2=102—<1—??> :5%9

BH>0TH575 BH= /%’9 :7—’V311 (cm)

UEMN->T, AABC DEEIE l><18>< NBH =21/11 (cm?

2
5D
(1) O’ M6, #93 OAIZEHF O'HZFI<L
OH=5-2
=3 (cm)

AOO'H IZBW\T
O’H?=72-3%=40
O'H>0THdh5
O’H=/40 =210 (cm)
AB=0'HTH»2575

NEM O D¥EEE2rcm & T5, ANABCDEEIZ
DWW T

1 1 1 1
E><24><r+5x26xr+5><10><r_5><24><10

INEFNT r=4
FoT, HEMHO DEEIZ 4cm
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=4 (cm) A H DY
CHhoiEn ABIZER CH %25(<, 4ciln A B
ACABIZ CA=CBODZEU=AFTHE15, Hi '\ C
1 R

I ABDHET AH:E X4=2 (cm)

HCO¥RFEZrcm&d5dLk
AC=1+7 (cm)
CH=4—(14+#»n=3—7 (cm)

AACH IZEWT
AH?+CH?*=AC?
22+ (3—n*=(1+n?°

ZNERRNT y:%

EoT, MCOEREE > cm

2
11]
@
CA=CF=+/424+6" =/52 =2//13 (cm)
AF=42 (cm)
X>T, AACF 3 =SI=AFTh5.
C/M530 AF IZE#§ CH 2#3(< &
CH=+/(2v13)’—(2v2)* =44 =211 (cm)

EoT AACF:%mﬁxzm:wﬁ (cm?




